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Opgave 1 

a) 𝑅 = 𝛼𝑇 + 𝛽𝑇2 = 0,034 ∙ 81 + 0,00003(81)2 = 2,754 + 0,19683 = 2,95083 Ω 

b) Δ𝑅 = √(
𝜕𝑅

𝜕𝑇
)

2
(∆𝑇)2 =

𝜕𝑅

𝜕𝑇
∆𝑇 = (𝛼 + 2𝛽𝑇)∆𝑇 = (0,034 + 2 ∙ 0,00003 ∙ 81)0,1 = 0,003886 ≈

0,004 Ω 

c) 𝑧 =
2,952−2,95083

0,003886
= 0,30108   Aflezen uit de tabel geeft 𝑂 = 0,1183, d.w.z. 

  𝑃(𝑅 > 2,952) = 0,5 − 0,1183 = 0,3817,  d.w.z.  ca. 38,2%  

Opgave 2  

a) ∫ 𝐴𝑥𝑑𝑥 = 1 →   𝐴 ∫ 𝑥𝑑𝑥 =
𝐴

2

4

0

∞

−∞
[𝑥2]0

4 =
𝐴

2
∙ 16 = 8𝐴 = 1  → 𝐴 =

1

8
 

b) 𝑥̅ = ∫ 𝑥𝐴𝑥𝑑𝑥 =
1

8
∫ 𝑥2𝑑𝑥 =

1

8∙3

4

0

∞

−∞
[𝑥3]0

4 =
64

8∙3
=

8

3
 

c) 𝑥2̅̅ ̅ = ∫ 𝑥2𝐴𝑥𝑑𝑥 =
1

8
∫ 𝑥3𝑑𝑥 =

1

8∙4

4

0

∞

−∞
[𝑥4]0

4 =
44

8∙4
= 8 

 𝜎 = √𝑥2̅̅ ̅ − 𝑥̅2 = √8 − (
8

3
)

2
= √

8

9
=

2

3
√2 

d) 𝑃 = ∫ 𝐴𝑥𝑑𝑥 =
1

8

𝑥̅+𝜎

𝑥̅−𝜎 ∫ 𝑥𝑑𝑥 =
8

3
+

2

3
√2

8

3
−

2

3
√2

1

16
[𝑥2]8

3
−

2

3
√2

8

3
+

2

3
√2

=
1

16
{(

8

3
+

2

3
√2)

2
− (

8

3
−

2

3
√2)

2
} =

1

16
{(

8

3
)

2
+

32

9
√2 + (

2

3
√2)

2
− ((

8

3
)

2
−

32

9
√2 + (

2

3
√2)

2
)} =

1

16
{

64

9
√2} =

4

9
√2 ≈

0,628, d.w.z.  ca.  62,8% 

Opgave 3 

a) 𝑡̅ =
1

𝑁
∑ 𝑡𝑖 =

1

5
𝑁
𝑖=1 (6,17 + 6,13 + 6,23 + 6,12 + 6,16) = 6,162 𝑠 

b) 𝑠 = √
∑(𝑡𝑖−𝑡)2

𝑁−1
= √

(6,17−6,162)2+(6,13−6,162)2+(6,23−6,162)2+(6,12−6,162)2+(6,16−6,162)2

4
=

√
(0,008)2+(−0,032)2+(0,068)2+(−0,042)2+(0,002)2

4
= √

0,00748

4
= 0,0432 ≈ 0,05 𝑠 

c) 𝑠𝑡̅ =
𝑠𝑡

√𝑁
=

0,0432

√5
= 0,0193 ≈ 0,02 𝑠      ;      𝑡̅ = (6,16 ± 0,02) 𝑠 

 

Opgave 4 

a) 𝑉̅ =
𝑤1𝑉1+𝑤2𝑉2

𝑤1+𝑤2
  met 𝑤1 =

1

0,0052 = 40000   en 𝑤2 =
1

0,0022 = 250000 

𝑉̅ =
40000 ∙ 1,003 + 250000 ∙ 1,009

290000
=

292370

290000
≈ 1,0081724 𝑚3 

b) 𝑠𝑉̅ = √
1

𝑤1+𝑤2
= √

1

290000
= 0,0018569 ≈ 0,002 𝑚3 

𝑉̅ = (1,008 ± 0,002)𝑚3 

 

 

 

 



Opgave 5 

 
a) Met behulp van de tabel volgt : 

  𝑢𝐹̅̅̅̅ =
1

4
(2,4 + 9,2 + 22,2 + 37,6) = 17,85 𝑐𝑚𝑁 

 𝑢2̅̅ ̅ =
1

4
(4 + 16 + 36 + 64) = 30 𝑐𝑚2  

𝑘 =
𝑢𝐹̅̅̅̅

𝑢2̅̅ ̅
=

17,85

30
= 0,595 𝑁𝑐𝑚−1 

 

b) Uit de tabel volgt: ∑ 𝐷𝑖
2 = 0,027𝑁

𝑖=1  

 𝜎𝐹 = √
1

𝑁−1
∑ 𝐷𝑖

2 = √
0,027

3
= √0,009 =

0,094868 

𝑠𝑘 =
𝜎𝐹

√𝑁𝑢2̅̅ ̅̅
=

0,094868

√4∙30
= 0,00866 ≈ 0,009 𝑁𝑐𝑚−1    →    𝑘 = (0,595 ± 0,009) 𝑁𝑐𝑚−1 

c) 

  𝑠𝑘  = √∑ (
𝜕𝑘

𝜕𝐹𝑖
)

2

(𝜎𝐹)2

𝑁

𝑖=1

= 𝜎𝐹√∑ (
𝜕𝑘

𝜕𝐹𝑖
)

2𝑁

𝑖=1

 

𝜕𝑘

𝜕𝐹𝑖
=

1

𝑢2̅̅ ̅

𝜕𝑢𝐹̅̅̅̅

𝜕𝐹𝑖
=

1

𝑢2̅̅ ̅

𝜕

𝜕𝐹𝑖
{

1

𝑁
(𝑢1𝐹1 + 𝑢2𝐹2 + ⋯ . +𝑢𝑁𝐹𝑁)} =

1

𝑢2̅̅ ̅
{

1

𝑁
𝑢𝑖} 

𝑠𝑘 = 𝜎𝐹√∑ ( 
1

𝑢2̅̅ ̅
)

2

{
1

𝑁
𝑢𝑖}

2𝑁

𝑖=1

= 𝜎𝐹
√( 

1

  𝑢2̅̅ ̅  
)

2 1

𝑁2
∑ 𝑢𝑖

2 = 𝜎𝐹
√( 

1

  𝑢2̅̅ ̅  
)

2 1

𝑁
𝑢2̅̅ ̅ =

𝜎𝐹

√𝑁𝑢2̅̅ ̅
 

 

𝑢 (𝑐𝑚) 𝐹(𝑁) 𝑢𝐹(𝑐𝑚𝑁) 𝑢2(𝑐𝑚2) 
2 1,2 2,4 4 

4 2,3 9,2 16 

6 3,7 22,2 36 

8 4,7 37,6 64 

𝑢 (𝑐𝑚) 𝐹(𝑁) 𝐷𝑖(𝑁) 𝐷𝑖
2(𝑁2) 

2 1,2 0,01 0,0001 

4 2,3 -0,08 0,0064 

6 3,7 0,13 0,0169 

8 4,7 -0,06 0,0036 


